Grade 10 Academic (MPM 2D) 

Exam Review Solutions

1. a) 6, 0, -3, 8

b) 2, -4, 
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2. a) (2, 3)


b) (-2, 6)
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3. a) infinite


b) one



c) none

4. a) (-2, 5)


b) (1, -10)

5. a) (5, 2)


6. a) (3, 8)


b) (-1, -2)

c) (18, 12)

d) (-5. -2)

7. 750 2-kg bags and 350 4-kg bags

8. 45 vans

9. 2L of 30% and 3L of 35%

10. 80 km/h
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13. r = 19

14. a) 
(-1, 5)


b) (75, 250)
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· Sub the midpoint (3.5, 1.5) in for 
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· Sub the given endpoint (5, -7) in for 
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· Set the x-coordinates equal 
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and solve for 
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· Repeat to solve for 
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using the y-coordinates
· The second endpoint is 
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Show:
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Show: 
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20. a) 
4.2 units

    b) 10.7 units

21. a) 
degree 2 (quadratic)
    b) degree 3

            c) degree 4


d) degree 5


2 terms (binomial)
        1 term (monomial)
   3 terms (trinomial)

     4 terms

22. 22

23. a) 8y + 6


b) 5x – 1


c) 
[image: image21.wmf]1

2

5

2

+

-

x

x



d) 
[image: image22.wmf]2

2

4

5

b

ab

b

a

-

+

-


      e) 
[image: image23.wmf]3

5

12

b

a

-



f) 
[image: image24.wmf]2

4

2

30

z

y

x




g) 3x
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c) 2


d) 
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26. a) 
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28. a) 
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e) 
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33. a) opens up; vertex (-3, -2); axis of symmetry x = -3; min. -2

      b) opens down; vertex (4, -3); axis  of symmetry x = 4; max. -3

      c) opens up; vertex (1, 1); axis of symmetry x = 1; min. 1

      d) opens down; vertex (-2, 7); axis of symmetry x = -2; max. 7
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b) 
[image: image62.wmf]53

)

4

(

4

2

+

+

-

=

x

y

; max. 53 when x = -4

      c) 
[image: image63.wmf]271

)

6

(

7

2

+

-

-

=

x

y

; max. 271 when x = 6

d) 
[image: image64.wmf]18

2

5

4

2

-

÷

ø

ö

ç

è

æ

-

=

x

y

; min. -18 when 
[image: image65.wmf]2

5

=

x


36. a) 18 m

b) 1.8 s

c) 3.7 s

37. 9 m by 4.5 m

38. 
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39. 8 m by 6 m

40. 4, 5, 6 
or
-4, -5, -6

41. 9 cm by 12 cm

42. a) 2, -7


b) 
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c) 0, 5



d) 
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43. x = 4, x = 2


b) t = 
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c) a = 4, a = -1


d) x = 
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44. a) x-int . 3, 5 ; vertex (4, -1)
b) x-int. 3, 4 ; vertex (3.5, -0.25)

45. a) x = 6, x = 2


b) x = 
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c) 
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      d) 
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46. 15, 17, 19

or
-19, -17, -15

47. 8.1 m by 6.1 m

48. 11.2 m

49. a) s = 33.3 cm; t = 26.7 cm

b) y = 20 m; w = 24 m


*remember to prove similarity if not stated! 

50. 
[image: image77.wmf]2

27

cm


51. a) 9.514

b) 0.358

c) 0.731
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54. a) 6.4 m

b) 7.5 m

c) 11.4 m
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56. BC = 166 cm

57. Omit

58. 126 m

59. Omit

60. x = 9.6 cm
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